QP Revision Answers
MA – Financial Reporting

Revision 1 Non-Current Assets
Property, Plant and Equipment and Investment Properties

Answer 1

Hotel Property One

Land use right is accounted for as an operating lease under HKAS 17.

Carrying amount as at 31 December 20X5

= RMB45,000,000 × (1 – 2.5/75)

= RMB43,500,000.

An owner-managed hotel is owner-occupied property, rather than investment property.

Accordingly, the building is treated as property, plant and equipment under HKAS 16 and measured by the cost model.

Cost of the building (capitalised the amortisation of land cost over the development period)

= RMB303,000,000 + [45,000,000 × 1.5/75]

= RMB303,900,000.
Accumulated depreciation up to 31 December 20X5 (1 full year)

= RMB303,900,000/ 50 × 1

= RMB6,078,000.
Carrying amount as of 31 December 20X5

= RMB303,900,000 – 6,078,000

= RMB297,822,000.

Hotel Property Two

The land use right is accounted for as an operating lease under HKAS 17.

Carrying amount as of 31 December 20X5

= RMB48,000,000 × (1–2.25/60)

= RMB46,200,000.
The building is held to earn rental without provision of any ancillary services to the occupant. Accordingly, the building is treated as investment property under HKAS 40 and stated at fair value as of 31 December 20X5.
Carrying amount = fair value = RMB340,000,000.
Under HKAS 17, separate measurement of the land and buildings elements is not required when the lessee's interest in both land and buildings is classified as an investment property in accordance with HKAS 40 and the fair value model is adopted. Accordingly, there is an alternative treatment to state the whole property, i.e. both land and building, at RMB440,000,000 (RMB100,000,000 + 340,000,000).
Answer 2

(a)
Tower A is reclassified from an investment property under HKAS 40 to an owner-occupied property under HKAS16 upon commencement of occupation for own use at end of March 2013 (or since April 2013).
Tower B is treated as an investment property continuously, but transferred from under construction to completed property upon completion of the construction by end of May 2013(or since June 2013).
Tower C is reclassified from owner-occupied property to investment property upon the end of the owner-occupation from 1 April 2013.
Tower D is derecognised as an asset from 1 May 2013 under the sales and operating lease back arrangement.
	Examiner’s comment:

This question required the candidates to explain the implication of certain activities on the classification of the properties. No full marks could be obtained by those candidates who were not able to clearly express the change from one category to another and who just stated the classification as at the end of the financial period.


(b)

Carrying amount at 30 June 2013:

Tower A – Owner-occupied property stated at cost model
Deemed cost at 31 March 2013: fair value of HKD26.4 million
Depreciation for 3 months ended 30 June 2013:

HKD 26.4 million x (0.25 year / 47.25 years) = HKD 0.14 million

Cost less accumulated depreciation:

HKD26.4 million – 0.14 million = HKD26.26 million
Tower B – investment property stated at fair value of HKD19.2 million
Tower C – investment property stated at fair value of HKD40.0 million
	Examiner’s comment:

This question required the candidates to calculate the carrying amount of the properties as at the end of financial period. The challenging part was that one of the properties was reclassified from investment property at fair value model to owner occupied property at cost model. Mistakes were found in the determination of the remaining useful life for the calculation of deprecation and resulted for an incorrect carrying amount.


(c)

Amounts recognised in the income statement for the six months ended 30 June 2013:

Fair value gain on investment properties = HKD2 million

Tower A: HKD26.4 million – 25.8 million = HKD0.6 million

Tower B: HKD19.2 million – (14.2 million + 3.8 million) = HKD1.2 million

Tower C: HKD40.0 million – (38.0 million + 1.8 million) = HKD0.2 million
Depreciation of owner-occupied properties = HKD0.41 million

Tower A: HKD0.14 million

Tower C: HKD30 million × (0.25/50) or (3mths/ 600mths)= HKD0.15 million

Tower D: HKD18 million / 50 × 4/12 or HKD18 million / 600 mths x 4mths = HKD0.12 million
Gain on disposal of owner-occupied property = HKD13.02 million

Tower D: HKD30 million – (17.1 million – 0.12 million) = HKD13.02 million
Operating lease expense of Tower D = HKD0.16 million (HKD0.08 million × 2)
Amount recognised in the other comprehensive income for the six months ended 30 June 2013:

Revaluation gain on reclassification of owner-occupied property to investment property

Tower C: HKD38.0 million – (28.5 million – 0.15 million) = HKD9.65 million
	Examiner’s comment:

This question required the candidates to identify the nature and calculate the amount of income and expenses to be recognised in the statement of comprehensive income for the relevant period in relation to the subject properties. Most of the candidates were able to identify deprecation charge, fair value gain on revaluation of investment properties, gain or loss on disposal of owner-occupied properties, rental expenses but made mistakes in their calculations, therefore they could not score a high mark. Also, not many candidates realised that the revaluation gain on the reclassification of an owner-occupied property to an investment property should be recognised in the other comprehensive income.

Generally speaking, average candidates were able to perform satisfactorily in parts (a) and (b) and only the outstanding candidates could manage part (c).


Answer 3

(a)(i)

This is a voluntary change in accounting policy which should be applied retrospectively unless retrospective application is impracticable.
An accounting policy shall be changed only if such change is required by a HKFRS or such change results in the financial statements providing reliable and more relevant information about the effects of transactions, other events or conditions on the entity’s financial position, financial performance or cash flows.
In this case, retrospective application is feasible as the necessary fair value information in respect of prior periods will have been obtained and disclosed in accordance with HKAS 40. The entity shall adjust the carrying amount of the investment properties to the earliest period presented, i.e. 1 April 2012, not 31 March 2014.
The new accounting policy should be applied to all investment properties, not only 2 of the investment properties for consistent accounting policy except for the scenario under HKAS 40.32A where dual models are allowed.
(a)(ii)

This is a change in use, evidenced by end of owner-occupation, for a transfer from owner-occupied property to investment property, rather than a change in accounting policy.
Property A should be reclassified from property, plant and equipment (HKAS 16) to investment property (HKAS 40) upon end of owner-occupation (i.e. 1 April 2013) and transferred at fair value. The difference between the carrying amount of Property A in accordance with HKAS 16 and its fair value is treated as a revaluation and to be recognised in accordance with HKAS 16 (HKAS 40.61 and 62).
(a)(iii)

The stock loss is recognised in profit or loss during the year ended 31 March 2014.
The stock loss does not form part of the cost of goods sold and this should be presented after the gross profit when the entity presents its financial performance by function of expenses.
	Examiner’s comment:

This question required candidates to explain appropriate accounting implications for each scenario which involved the treatment of property and inventories. The performance in this question was average.

For the first scenario, most candidates focused on the relevant accounting treatment of properties under HKAS 16 and HKAS 40 whereas the question asked about the change in the accounting policy under HKAS 8.

However, for the scenario of change in use of the property from owned occupied property to investment property, the question was straightforward and candidates were able to provide the proper treatment.

For the last scenario, many of the candidates understood the inventories loss to be recognised in profit or loss but some candidates wrongly referred to HKAS 36 or failed to mention the presentation of the inventories loss in profit or loss.


(b)

Mr. Lee’s behaviour is unethical.
As a professional accountant, he has to comply with the fundamental principles of integrity, objectivity, professional competence and due care, confidentiality and professional behaviour as set out in s.100.5 of the Code of Ethics for Professional Accountants (the “Code”).
When a professional accountant holds a senior position within an organisation, a professional accountant in business is expected to encourage an ethics-based culture in the employing organization that emphasizes the importance that senior management places on ethical behaviour (300.5 of the Code).
A professional accountant in business shall not knowingly engage in any business, occupation, or activity that impairs or might impair integrity, objectivity or the good reputation of the profession and as a result would be incompatible with the fundamental principles (300.6 of the Code).
Self-interest threat may be created as Ms. Wong participates in the incentive compensation arrangements offered by the entity so that she can get a high bonus if she co-operates with Mr. Lee.
Safeguards shall be applied to eliminate threats, such as ethics and conduct programmes, policies and procedures to empower and encourage employees to communicate with senior management within the entity, the audit committee or those charged with governance of the organisation or consultation with another appropriate professional accountant (300.14 of the Code).
Ms. Wong should note that creating a forged document is a criminal offence and should refuse to co-operate.
In circumstances where Ms. Wong believes that unethical behaviour or actions by Mr. Lee will continue to occur within the company, she may consider obtaining legal advice.
In those extreme situations where all available safeguards have been exhausted and it is not possible to reduce the threat to an acceptable level, Ms. Wong shall refuse to be or remain associated with information she determines is misleading and may conclude that it is appropriate to resign from the company (300.15 of the Code).
	Examiner’s comment:

This question tested candidates on their knowledge and reaction in a situation concerning an unethical issue. The performance of candidates was satisfactory.

Most candidates were able to mention or explain the fundamental principles of integrity, professional competence and due care, and objectivity. They also understood that Ms. Wong should refuse to co-operate. However, some misinterpreted "safeguard" as safeguarding the inventories rather than safeguarding in order to eliminate the self-interest threats.


Answer 4

(a)

Property A

Property A remained classified as an inventory in accordance with HKAS 2 which is measured at the lower of cost and net realisable value as at 31 December 2015 as the commencement of the operating lease to another party was in February 2016. As the net realisable value as at 31 December 2015, i.e. the estimated resale price, was below the acquisition cost, Property A shall be written down to the net realisable value and such write-down shall be recognised as an expense in profit or loss.

Property B

Property B is reclassified from inventories in accordance with HKAS 2 to an owner-occupied property in accordance with HKAS 16 which is carried at cost less accumulated depreciation and any accumulated impairment losses from 1 September 2015 onwards.
Property C

Property C is reclassified from owner-occupied property in accordance with HKAS 16 to investment property in accordance with HKAS 40 upon the end of the owner-occupation from 1 September 2015 even though the new lease was entered into in January 2016.
Pursuant to HKAS 40.61, when an owner-occupied property becomes an investment property that will be carried at fair value, Property C shall be accounted for under HKAS 16 up to the date of change in use. Any difference at that date between the carrying amount of the property in accordance with HKAS 16 and its fair value is handled in the same way as a revaluation in accordance with HKAS 16. In other words, the resulting increase in the carrying amount of Property C is recognised in other comprehensive income as a revaluation surplus and accumulated in equity as a revaluation reserve.
	Examiner’s comment:

This question required candidates to explain the accounting implications for each of the events as mentioned in the question which are all about the accounting treatment of properties.
The performance was satisfactory. However, some candidates applied the wrong accounting standards, such as non-current assets held for sale and subsequent event accounting and some did not discuss the change of classification during the year for certain properties.


(b)(i)
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	Examiner’s comment:

This question required candidates to prepare the journal entries for each of the events as mentioned in the question.
The performance was less than satisfactory. Some candidates only included the calculations and omitted the journal entries. Many students could not distinguish between revaluation under the treatment of property, plant and equipment and the fair value change under the treatment of investment property.


Intangible Assets (HKAS 38)

Answer 5
Brand name

The brand name, Magica, is an internally generated intangible asset.
HKAS 38 establishes a much higher hurdle for the recognition of internally generated assets than purchased ones. In particular, it specifically prohibits the recognition of internally generated brands.
HKAS 38.64 states that expenditure on internally generated brands cannot be distinguished from the cost of developing the business as a whole.
Therefore, MHL should not recognise the brand name in its consolidated statement of financial position.
Patent

Since the patent is expected to expire in 20 years, it should be amortised to a nil residual value at HKD2 million / 20 years, i.e. HKD100,000 per annum.
A patent cannot be revalued under HKAS 38 because there is no active market as a patent is unique (HKAS 38.78).
HKAS 38 does not permit revaluation without an active market as the value cannot be reliably measured in the absence of a commercial transaction.
Therefore, MHL should not revalue the patent in its consolidated statement of financial position.
	Examiner’s comment:

This question required the candidates to advise the appropriate accounting treatment for the brand name and the patent. The performance was less than satisfactory. Many candidates could not point out that HKAS 38 Intangible Assets specifically prohibits the recognition of internally generated brands. Also, many candidates failed to point out that a patent cannot be revalued under HKAS 38 because there is no active market.


Answer 6
(a)
Stauffer brand

The Stauffer brand is an "internally generated" intangible asset rather than a purchased one.

HKAS 38 specifically prohibits the recognition of internally generated brands, on the grounds that they cannot be reliably measured in the absence of a commercial transaction. Stauffer will not therefore be able to recognise the brand in its statement of financial position.
(b)

The licence is an intangible asset acquired by a government grant. It can be accounted for in one of two ways:

· The asset is recorded at the nominal price (cash paid) of $1m and depreciated at $200,000 per annum of its five year life, or

· The asset is recorded at its fair value of $3m and a government grant is shown as deferred income at $2m. The asset is depreciated over the five years at an annual rate of $600,000 per annum. The grant is amortised as income through profit or loss over the same period at a rate of $400,000 per annum. This results in the same net cost of $200,000 in profit or loss per annum as the first method.
(c)

Advertising campaign

The advertising campaign is treated as an expense. Advertising expenditure cannot be capitalized under HKAS 38, as the economic benefits it generates cannot be clearly identified so no intangible asset is created.
(d)

Patent

The patent is amortised to a nil residual value at $500,000 per annum based on its acquisition cost of $8m and remaining useful life of 16 years.
The patent cannot be revalued under the HKAS 38 rules as there is no active market as a patent is unique. HKAS 38 does not permit revaluation without an active market as the value cannot be reliably measured in the absence of a commercial transaction.
(e)

Acquisition

The difference between the price that Stauffer paid and the fair value of the net assets of the acquired company will represent goodwill. The research and development project must also be valued at fair value in a business combination to ensure the goodwill is stated accurately, while in the acquiree's own financial statements it would not be revalued as there is no active market because it is unique. Consequently, in a business combination HKAS 38/HKFRS 3 (revised) permit intangible assets that do not have an active market to be valued on an "arm's length" basis.
The values attributed in the group financial statements on the acquisition date are therefore:
	
	$m

	Net assets (excluding R&D project)
	12

	R&D project
	5

	Goodwill (remainder)
	1

	Purchase price
	18


The fair value of the research and development project is measured at the acquisition date, not at the year end and so it is not recorded at $8m. The project will be amortised over the expected useful life of the product developed once the product is available for production.
Answer 7
(a)
Licences

Recognition criteria:
· An intangible asset meets the identifiability criterion when it is separable or it arises from contractual or other legal rights (HKAS38 ‘Intangible Assets’).
· Additionally intangible assets are recognised where it is probable that the future economic benefits attributable to the asset will flow to the entity and the asset’s cost can be reliably measured.
· Where intangible assets are acquired separately, the asset’s cost or fair value reflects the estimations of the future economic benefits that are expected to flow to the entity.
· The licence will, therefore, meet the above criteria for recognition as an intangible asset at cost.
Measurement:

· Subsequent to initial recognition, HKAS38 permits an entity to adopt the cost or revaluation model as its accounting policy.
· The revaluation model can only be adopted if intangible assets are traded in an active market. As the licence cannot be sold, the revaluation model cannot be used.
· The cost model requires intangible assets to be carried at cost less amortisation and impairment losses.

Amortisation and renewal:

· Amortisation is the systematic allocation of the depreciable amount of an intangible asset over its useful life. The depreciable amount is the asset’s cost less its residual value.
· The licence will have no residual value. The depreciable amount should be allocated on a systematic basis over its useful life.
· The method of amortisation should reflect the pattern in which the asset’s economic benefits are expected to be consumed.
· If that pattern cannot be determined reliably, the straight line method of amortisation must be used.
· The licence does not suffer wear and tear from usage, that is the number of customers using the service.
· The economic benefits of the licence relate to Johan’s ability to benefit from the use of the licence.
· The economic benefits relates to the passage of time and the useful life of the licence is now shorter. Therefore, the asset depletes on a time basis and the straight line basis is appropriate.
· The licence should be amortised from the date that the network is available for use; that is from 1 December 2007.
· An impairment review should have been undertaken at 30 November 2007 when the licence was not being amortised. Although the licence is capable of being used on the date it was purchased, it cannot be used until the associated network assets and infrastructure are available for use.
· Johan expects the regulator to renew the licence at the end of the initial term and thus consideration should be given to amortising the licence over the two licence periods, i.e. a period of 11 years (five years and six years) as the licence could be renewed at a nominal cost.
· However, Johan has no real experience of renewing licences and cannot reliably determine what amounts, if any, would be payable to the regulator. Therefore, the licence should be amortised over a five year period, that is $24 million per annum.
Impairment:

· There are indications that the value of the licence may be impaired. The market share for the year to 30 November 2008 is disappointing and competition is fierce in the sector, and retention of customers difficult.
· Therefore, an impairment test should be undertaken. Johan should classify the licence and network assets as a single cash generating unit (CGU) for impairment purposes. The licence cannot generate revenue in its own right and the smallest group of assets that generates independent revenue will be the licence and network assets. The impairment indicators point to the need to test this cash generating unit for impairment.
(b)
Costs incurred in extending network
Recognition of feasibility study:

· The cost of an item of property, plant and equipment should be recognised when

(i)
it is probable that future economic benefits associated with the item will flow to the entity, and

(ii)
the cost of the item can be measured reliably.
· It is necessary to assess the degree of certainty attaching to the flow of economic benefits and the basis of the evidence available at the time of initial recognition. The cost incurred during the initial feasibility study ($250,000) should be expensed as incurred, as the flow of economic benefits to Johan as a result of the study would have been uncertain.
Cost, location and condition, and capitalization:
· HKAS16 states that the cost of an item of PPE comprises amongst other costs, directly attributable costs of bringing the asset to the location and condition necessary for it to be capable of operating in a manner intended by management. Examples of costs given in HKAS16 are site preparation costs, and installation and assembly costs.
· The selection of the base station site is critical for the optimal operation of the network and is part of the process of bringing the network assets to a working condition. Thus the costs incurred by engaging a consultant ($50,000) to find an optimal site can be capitalised as it is part of the cost of constructing the network and depreciated accordingly as planning permission has been obtained.
Leases:
· Under HKAS17, ‘Leases’, a lease is defined as an agreement whereby the lessor conveys to the lessee, in return for a payment or series of payments, the right to use an asset for an agreed period of time.
· A finance lease is a lease that transfers substantially all the risks and rewards incidental to ownership of the leased asset to the lessee.
· An operating lease is a lease other than a finance lease.
· In the case of the contract regarding the land, there is no ownership transfer and the term is not for the major part of the asset’s life as it is land which has an indefinite economic life. Thus substantially all of the risks and rewards incidental to ownership have not been transferred. The contract should be treated, therefore, as an operating lease.
· The payment of $300,000 should be treated as a prepayment in the statement of financial position and charged to the income statement over the life of the contract on the straight line basis.
· The monthly payments will be expensed and no value placed on the lease contract in the statement of financial position.
(c)
Handsets and revenue recognition
Inventory:

· The inventory of handsets should be measured at the lower of cost and net realisable value.
· Johan should recognise a provision at the point of purchase for the handsets to be sold at a loss. The inventory should be written down to its net realisable value (NRV) of $149 per handset as they are sold both to prepaid customers and dealers. The NRV is $51 less than cost. Net realisable value is the estimated selling price in the normal course of business less the estimated selling costs.
Revenue recognition:

· HKFRS 15, ‘Revenue from Contracts with Customers’, Step 5: Recognise revenue when performance obligations are satisfied, where an entity can reasonably measure the outcome of a performance obligation, revenue is recognised based on progress towards satisfaction of the performance obligation. In other words, it requires the recognition of revenue by reference to the stage of completion of the transaction at the reporting date.
· Revenue associated with the provision of services should be recognised as service as rendered.
· Johan should record the receipt of $21 per call card as deferred revenue at the point of sale.
· Revenue of $18 should be recognised over the six month period from the date of sale.
· The unused call credit of $3 would be recognised when the card expires as that is the point at which the obligation of Johan ceases.
· Revenue is earned from the provision of services and not from the physical sale of the card.
Agency:

· HKFRS 15 deals in detail with agency arrangements with the following accounting treatment for principle and agent:
· In the case of a principal, the performance obligation is to provide goods or services and it is satisfied when the relevant goods or services are transferred to the customer. Revenue is recognised at this point (or over this period of time) and is measured as the gross amount of consideration expected to be entitled and received from the customer.
· In the case of an agent, the performance obligation is arranging for goods/services to be provided by another party. Revenue is measured at the fee or commission that the seller expects to be entitled to in exchange for arranging for the provision of goods/services to the customer.
· Revenue is the amount of the ‘commission’.
· Additionally where there are two or more transactions, they should be taken together if the commercial effect cannot be understood without reference to the series of transactions as a whole.
Separability:

· As a result of the above, Johan should not recognise revenue when the handset is sold to the dealer, as the dealer is acting as an agent for the sale of the handset and the service contract. Johan has retained the risk of the loss in value of the handset as they can be returned by the dealer and the price set for the handset is under the control of Johan.
· The handset sale and the provision of the service would have to be assessed as to their separability. However, the handset cannot be sold separately and is commercially linked to the provision of the service. Johan would, therefore, recognise the net payment of $130 as a customer acquisition cost which may qualify as an intangible asset under HKAS 38, and the revenue from the service contract will be recognized as the service is rendered. The intangible asset would be amortised over the 12 month contract. The cost of the handset from the manufacturer will be charged as cost of goods sold ($200).
Government Grant

Answer 8
The applicable standard relating to this transaction is HKAS 20 Accounting for government grants and disclosure of government assistance. The principle behind the standard is that of accruals or matching: the grant received must be matched with the related costs.
Government grants are assistance by government in the form of transfers of resources to an entity in return for past or future compliance with certain conditions relating to the operating activities of the entity. There are two main types of grants:
(i)
Grants related to assets: grants whose primary condition is that an entity qualifying for them should purchase, construct or otherwise acquire long-term assets. Subsidiary conditions may also be attached restricting the type or location of the assets or the periods during which they are to be acquired or held. In this case the condition relates to the cost of building the hotels, which must be $500m or more.

(ii)
Grants related to income: These are government grants other than grants related to assets.
It is not always easy to match costs and revenues if the terms of the grant are not explicit about the expense to which the grant is meant to contribute. In the case of Norman, the intention of the grant is to create employment in the area, and the building of hotels is for that purpose. However, on balance, the grant can be seen as capital based, because the amount is not tied into payroll expenditure or numbers of jobs created, and the repayment clause is related to the cost of the asset (building of hotels). Accordingly, HKAS 20 allows two possible approaches:
(i)
Match the grant against the depreciation of the hotels using a deferred income approach.

(ii)
Deduct the grant from the carrying value of the asset.
If the company feels that the cost will not reach $500 million, a provision should be made for the estimated liability if the grant has been recognised.
Answer 9
Coate should determine, apply and disclose appropriate policies covering the acquisition, the presentation and measurement of the certificates in its financial statements.
The applicable standard relating to the green certificates is HKAS 20 Accounting for government grants and disclosure of government assistance.
The principle behind the standard is that of accruals or matching: the grant received must be matched with the related costs.
Government grants are assistance by government in the form of transfers of resources to an entity in return for past or future compliance with certain conditions relating to the operating activities of the entity. A government grant is recognised only when there is reasonable assurance that the entity will comply with the conditions attaching to it and the grants will be received. In the case of the green certificates, the condition that must be complied with is the environmentally friendly production of electricity, as verified by the independent audit.
There are two main types of grants:

(i)
Grants related to assets. These are grants whose primary condition is that an entity qualifying for them should purchase, construct or otherwise acquire long-term assets. Subsidiary conditions may also be attached restricting the type or location of the assets or the periods during which they are to be acquired or held.

(ii)
Grants related to income. These are government grants other than grants related to assets.
Since Coate can trade the green certificates, they are not long-term assets, and therefore fall into the category of grants related to income. They must be matched against the related costs of production of 'green electricity', as they are a form of government compensation for these costs.
There are two possible ways of presenting the grants (green certificates).

(i)
As a credit in profit or loss, either separately or under a general heading such as 'other income', or

(ii)
As a deduction from the related expense.
The green certificates are items held for sale in the ordinary course of business, and therefore should be recognised as inventories in accordance with HKAS 2 Inventories. Green certificates that are unsold at the end of the reporting period are included in inventory and charged to production as part of the cost of sales.
A deferred income approach is used to match the grant to the related cost as follows.
To record the quarterly receipt of the grant
	Dr.
	Certificate (SOFP)
	$ Fair value of certificate at receipt

	Cr.
	Deferred income (SOFP)
	$ Fair value of certificate at receipt


On the sale of a certificate: contribution to cost of production

When the certificate is sold its fair value may be recognised in profit or loss. It is treated as a deduction from cost of sales because it is a contribution to the cost of generating the 'green electricity'.
	Dr.
	Deferred income (SOFP)
	$ Fair value of certificate at receipt

	Cr.
	Cost of sales (P&L)
	$ Fair value of certificate at receipt


On the sale of a certificate: surplus/deficit

The certificate may be sold for more or less than its fair value at the time it was received from the government. This surplus/deficit is taken to/deducted from revenue in the SPLOCI.
	Dr.
	Bank/receivable (SOFP)
	$ Fair value of trade

	Cr.
	Certificate (SOFP)
	$ Fair value of certificate at receipt

	Dr. / Cr.
	Revenue (P&L)
	$ Balance (deficit/surplus)


Following HKAS 1 Presentation of financial statements, Coates is required to disclose its accounting policy in relation to government grants. HKAS 20 specifically requires disclosure of the nature and extent of the government assistance given and any conditions not yet fulfilled or related contingencies. The disclosures of unfulfilled conditions are unlikely to be extensive because an audit must be completed to show that the conditions have been fulfilled.
Borrowing costs (HKAS 23)
Answer 10
(a)
For the year ending 31 December 2013:

	
	HK$

	$40m × 10/12 × 6.5%
	2,166,667

	$40m × 6/12 × 6.5%
	1,300,000

	$40m × 2/12 × 6.5%
	433,333

	Total borrowing cost capitalized
	3,900,000


For the year ending 31 December 2014:
	
	HK$

	$120m × 6/12 × 6.5%
	3,900,000

	$40m × 4/12 × 6.5%
	866,667

	Total borrowing cost capitalized
	4,766,667


(b)

Depreciation is the systematic allocation of the depreciable amount of an asset over its useful life. In order to comply with the requirements of HKAS 16 relating to deprecation, it is necessary to identify:
· The parts (components) of each item of property, plant and equipment that are to be deprecated separately, such as the structure of the hotel building, furniture and fixtures and equipment that can be considered as significantly different components.

· The cost of each separately depreciable component.

· The amount eligible for capitalisation.

· The estimated residual value of each separately depreciable component, which is likely to be immaterial in most instances.

· The length of time during which the component will be commercially useful to the entity taking into consideration the expected physical wear and tear, obsolescence, and legal or other limits on the use of the assets, for example the length of the operating lease term.

· The time when the asset is available for use, i.e. when it is in the location and condition necessary for it to be capable of operating in the manner intended by management, and therefore deprecation of an asset begins. For the hotel property of RHE, it should start for depreciation at the date of the pre-opening activities start, i.e. 1 July 2014.

· The most appropriate deprecation method, which reflects the pattern in which the assets' future economic benefits are expected to be consumed by the entity, for each separately depreciable component.

(c)

The equipment and furniture in the hotel rooms at a cost of HK$40 million and the corresponding borrowing cost capitalized are considered as separately depreciable components with a useful life of 5 years.
The remaining cost of the hotel construction of HK$160 million and the corresponding borrowing cost capitalised are depreciated over 30 years.
Total borrowing costs capitalised : HK$8,666,667 (HK$3,900,000 + HK$4,766,667)
Allocated to equipment and furniture: HK$1,733,333 (40/200 × HK$8,666,667)
Allocated to hotel building structure: HK$6,933,334 (160/200 × HK$8,666,667)
Depreciation for 6 months from 1 July to 31 December 2014:

[(HK$40,000,000 + HK$1,733,333) / 5 × 6/12] + [(HK$160,000,000 + HK$6,933,334) / 30 × 6/12]

= HK$4,173,333 + HK$2,782,222

= HK$6,955,555
	Examiner’s comment:

This question tested the knowledge of candidates on the determination of borrowing cost capitalization and deprecation of property, plant and equipment. Low marks were scored in part (a) as a result of mis-interpretation of the amount and timing of the instalment payments to be made for the construction.
Part (b) was related to conceptual knowledge of depreciation which seemed to be easier for the candidates to handle. Application was still the difficult area for the candidates and the performance in part (c) was unsatisfactory. For those who had spent lot of time attempting to do the calculation, they might have scored low marks as they were unable to interpret the given fact pattern correctly or/and determine the appropriate commencement date of the deprecation.


Impairment of Assets (HKAS 36)
Answer 11
YM shall assess at each reporting date whether there is any indication that an asset may be impaired. If any such indication exists, SM shall estimate the recoverable amount of the asset.
The closure of the production plant and return of the leasehold land to the government is considered as an indicator of possible impairment of assets for YM, i.e. a significant change with an adverse effect on the entity has taken place in the period or is expected to in the near future with the result that the asset’s expected use or useful life will change.
An impairment test of asset, other than inventories in this case, involves comparing the carrying amount of the asset with its recoverable amount.
HKAS 36.2a specified that impairment test of an asset shall not be applied to inventories.
HKAS 2 requires inventories to be measured at the lower of cost and net realisable value. And net realisable value is the estimated selling price of an item of inventory less estimated costs to complete and sell it.
Building and Infrastructure:

Presented as property, plant and equipment as it is to be abandoned, instead of for sale.

Recoverable amount at 31 May 2011 –

Fair value less costs to sell = nil or negative; and

Value in use = the present value of the future cash flows expected to be derived from the operation from June to end of August 2011.
Impairment loss recognised – excess of $23.8 million over the estimated value in use.
Provision for dismantling – to adjust so that the balance will be accreted to $3 million by September 2011 (assuming time value of money for the four months from June to September 2011 is ignored, an additional $1.5 million is recognised).
Production equipment:

Presented as property, plant and equipment as it is not to be disposed by YM

Recoverable amount at 31 May 2011 - $48 million.
No impairment is recognised as YM can continue to use them in another manufacturing plant.
No provision for relocation and installation cost is recognised as there was not a present obligation at 31 May 2011.
Electricity generator:

Presented as a property, plant and equipment, as YM would continue manufacturing until the end of August 2011 and it is expected that the electricity generator would not be available for immediate sale as at 31 May 2011, and measured at the lower of carrying amount and recoverable amount.
Fair value less costs to sell = $4 million; and

Value in use = the present value of the future cash flows expected to be derived from the operation from June to end of August 2011.

Assuming the value in use is less than the fair value less costs to sell of $4 million, the Impairment loss recognised - $1.2 million ($5.2 million - $4 million).
Land under operating lease:

Presented as prepaid lease payment as YM would continue manufacturing and use the land until the end of August 2011 and it is expected that the land would not be available for immediate sale as at 31 May 2011 and measured at the lower of carrying amount and recoverable amount.
Fair value less costs to sell = not less than $35 million (assuming the costs to sell is minimal ; and

Value in use = the present value of the future cash flows expected to be derived from the operation from June to end of August 2011.
No impairment is recognised as the recoverable amount is expected to be greater than the carrying amount of $13 million.
Inventories – raw material:

Measure at $8.4 million at 31 May 2011.
As it is expected that all the raw materials will be consumed for the production of tiles and sales at a profit, i.e. the net realisable value is higher than the cost.

Inventories – Finished products:

Measured at $4.48 million ($3.2 million + $1.28 million) at 31 May 2011.
Net realizable value write down - $1.92 million [$6.4 million × 50% × 60%].
	Examiner’s comment:

This question tested the candidates understanding of the impairment of long life assets and the measurement of inventories at net realisable value in a given circumstance with an indicator of the possible impairment of assets. It was expected that the candidates could compare (a) the recoverable amount, i.e. the higher of the fair value less cost to sell and value in use, of the relevant assets other than inventories, and (b) the net realisable value of the inventories, with the carrying amount of each of the relevant assets. Performance was less than satisfactory, many answers demonstrated a misinterpretation of the given information or/and the focus of question. Even though candidates understood the subject matter was to do with impairment, their analyses were not satisfactory and the quantification of loss on impairment, or the net realisable value tests, was incorrect.


Answer 12
(a)

Based on the information provided in the question, the significant deterioration of Run Pro’s sales performance is an impairment indicator. When such an indication exists, the entity shall estimate the recoverable amount of the asset of Run Pro.
The brand, being an intangible asset with indefinite useful life, and therefore no amortisation is recognised, is required to be tested for impairment at least annually, irrespective of whether there is any indication of impairment.
Accordingly, WSL is required to perform an asset impairment review in both Run Pro and Jog Pro at 30 June 2012.
	Examiner’s comment:

Part (a) asked for an explanation of the requirements of impairment assessment for intangible assets with an indefinite useful life and the existence of an impairment indicator. Some candidates answered with detailed explanations of internal and external indicators of impairment set out in the standard which did not address the circumstances given in the question. Some candidates spent too much time providing answers which scored few marks.


(b)

An asset or cash generating unit (CGU) is considered to be impaired when its recoverable amount declines below its carrying amount.
The recoverable amount of an asset or a CGU is the higher of its fair value less costs to sell and its value in use.
The recoverable amount is determined for an individual asset, unless the asset does not generate cash inflows that are largely independent of those from other assets or groups of assets.
If that is the case, the recoverable amount is determined for the CGU to which the asset belongs, unless either:

· The asset’s fair value less costs to sell is higher than its carrying amount; or

· The asset’s value in use can be estimated to be close to its fair value less costs to sell and fair value less costs to sell can be determined.

A CGU is the smallest group of assets that generates largely independent cash inflows. This may be a single asset or group of assets.
Based on the information provided, each brand is considered as a cash generating unit.

The value in use of the group of assets (i.e. the intangible asset, plant and equipment, developed cost capitalised and inventories) under individual brands and fair value less costs to sell of each of the two brands and individual categories of assets are determinable.

HKAS 36 has a bottom-up approach to impairment testing.
It is incorrect to compare the aggregate value in use with the total net assets of both brands to determine whether an individual brand or other asset is impaired.
	Examiner’s comment:

Part (b) of the question tested the conceptual knowledge of impairment calculation and the consideration of the recoverable amount of individual assets and cash generating unit(s) (“CGU”). The basic concept was not challenging, but candidates did not score high marks as they failed to discuss the subject matter and failed to take into account that each brand is to be considered as a CGU.


(c)

	
	Run Pro
	Jog Pro

	
	$’000
	$’000

	Net assets of the CGU, other than inventories (a)
	71,000
	33,000

	Value in use of the CGU (b)
	64,000
	60,000

	Fair value less cost to sell of the CGU (c)
	60,000
	58,000

	The recoverable amount (d) (The higher of (b) and (c))
	64,000
	60,000

	
	
	

	Recoverable amount > Carrying amount of assets under the CGU
	NO
	YES

	Impairment issue
	YES
	NO

	Excess of net assets over the recoverable amount (d) – (a) = (e)
	(7,000)
	


According to the result above, the brand "Run Pro" is considered impaired and the impairment loss, HK$7 million, should be first allocated pro-rata on the basis of the carrying amount of each individual assets.
Allocation of impairment loss on pro-rata basis:
[image: image5.emf]
When allocating an impairment loss to individual assets within a CGU, the carrying amount of an individual asset should not be reduced below the highest of (i) its fair value less costs to sell (if determinable); (ii) its value in use (if determinable); and (iii) zero.
If this results in an amount being allocated to an asset which is less than its pro rata share of the impairment loss, the excess is allocated to the remaining assets within the CGU on a pro rated basis.
Note 1: Plant and equipment

	
	$’000

	Fair value less cost to sell (f)
	36,000

	Carrying amount (g)
	40,000

	(f) – (g) = (h)
	(4,000)


Note 2: Development cost

	
	$’000

	Capitalized without determinable fair value less costs to sell nor value in use (i)
	6,000


Both development cost and plant & equipment fulfilled the requirement above and no excess impairment loss should reallocate to other assets.
	Examiner’s comment:

Part (c) of the question required candidates to apply the concept of impairment calculation in determining the impairment amount to be recognised. Candidates were able to determine the recoverable amount as the higher of the "value in use" and "fair value less cost to sell" of the CGUs, but had difficulties to correctly allocate the impairment loss on a pro-rata basis to individual assets within a CGU.


Answer 13
(a)

Net realisable value of inventories is the estimated selling price in the ordinary course of business less the estimated costs of completion and the estimated costs necessary to make the sale.
Assessment of impairment of property, plant and equipment involves comparing the carrying amount of the asset with its recoverable amount, which is the higher of its fair value less costs of disposal and its value in use.
Fair value less costs of disposal is the amount obtainable from the sale of an asset or cash generating unit in an arm’s length transaction between knowledgeable, willing parties, less the costs of disposal.
Value in use is the present value of the future cash flows expected to be derived from an asset or cash-generating unit.
	Examiner’s comment:

This question required candidates to explain the differences between the measurement of net realizable value of inventories and impairment assessment of property, plant and equipment. It was straightforward and most of the candidates provided the definitions of net realizable value and recoverable amount. Full marks would have been obtained with further explanation of the determination of recoverable amount, fair value less costs of disposals and value in use.


(b)

The Final Order provides indicator that only 500,000 units would be sold at a price above the unit cost.
If there is no possible way to sell them to other customers, the net realisable value of the remaining 300,000 units will be nil, a write down of inventories up to $3,600,000 (300,000 x $12) would be recognised.
And the inventories of the finished goods, after write down the inventories, will be carried at $6,000,000 as at 31 October 2013.
For raw material purchased for the production of this model and work in progress under production, net realisable value is assessed with consideration of alternative use and their estimated selling price.
For the moulds used to produce the item concerned, a total of 10 months depreciation of $250,000 has been recognised and the carrying amount as at 31 October 2013 is $200,000.
The Final Order provides indicators that there would be no more new sales of the items and therefore the mould should be subject to impairment testing.
Value in use is considered nil and the recoverable amount should be determined based on fair value less costs to sell. Given the estimated selling price of scrap metal is $10,000, an impairment of $190,000 will be recognised.
	Examiner’s comment:

This question required candidates to apply the concept of measurement of net realizable value of inventories and impairment of property, plant and equipment to the scenario. Some candidates misinterpreted the concept of comparison of cost with net realizable value for inventories. In principle, such an exercise should be carried out on an item-by-item basis. It was incorrect to compare the total net realizable value of all inventories with their total cost. Most candidates understood that the mould was subject to impairment, but some made mistakes in the calculation of the carrying amount before impairment and therefore were unable to determine the correct amount of impairment loss.


Answer 14
(a)

There are several matters to be considered when looking at the implications of the information regarding Ashlee’s financial statements.

· The mistakes which have been found in the financial statements would have to be adjusted before the financial statements could be approved and published. Additionally, because the loan covenant agreements have been breached then the assets of the group should be reviewed for impairment and any impairment recognised in the financial statements for the year ended 31 March 2015.

· The fact that loan covenants were breached would require Ashlee to determine whether the going concern assumption in the financial statements is appropriate. As the loan creditors appear to have come to an arrangement with Ashlee, then the going concern position may not be affected.

· If the situation had been so severe that the whole business was to be closed, then provision would be made in the financial statements to 31 March 2015 and a fundamental change in the basis of accounting would occur.

Pilot

· The reorganisation costs cannot be included in the financial statements for the year ended 31 March 2015 because the decision to reorganise was not made or announced before the year end and there was no formal plan at the year end (HKAS 37 ‘Provisions, Contingent Liabilities and Contingent Assets’). The provision should be made in the year to 31 March 2016. Disclosure should be made in the financial statements for the year ended 31 March 2015 of the intended reorganisation, as a disclosable non adjusting event under HKAS 10 ‘Events After the Reporting Period’.

· Pilot’s net assets (along with those of Ashlee and Gibson) are required to be tested for impairment under HKAS 36 ‘Impairment of Assets’ at 31 March 2015 as a significant reorganisation is deemed to indicate possible impairment. The reorganisation provision should not be taken into account in determining the net assets at the year end and therefore any figure for the recoverable amount should be based upon projections which do not take the reorganisation into account. The costs and benefits of the reorganization should be taken out of the projections.

	
	With reorganization
	Without reorganization

	
	$m
	$m

	Net assets
	85
	85

	Less: reorganization costs
	(4)
	

	
	81
	85

	Recoverable amount
	84
	82

	Impairment
	N/A
	3


· Therefore there is an impairment of Pilot’s net assets at 31 March 2015 of $3 million. This will be written off goodwill. Given the benefit of the reorganisation, this impairment loss may be reversed in future years. However HKAS 36 does not allow an impairment loss relating to goodwill to be reversed.

Gibson

· HKFRS 5 ‘Non-current Assets Held for Sale and Discontinued Operations’ establishes two classifications, which are ‘held for sale’ non-current assets and a ‘disposal group’. A ‘disposal group’ is a collection of assets and liabilities that are to be disposed of in a single transaction.

· Non-current assets classified as ‘held for sale’ must be available for immediate sale in their present condition, the sale of the asset must be highly probable and, with limited exception, the sale must be completed within one year.

· In the case of a disposal group, the measurement basis required for non-current assets classified as ‘held for sale’ is applied to the group as a whole. Any resultant impairment loss is allocated using HKAS 36. Disposal groups classified as held for sale, are measured at the lower of the carrying amount and fair value less costs to sell. Disposal groups are not depreciated.

· Gibson will be classified as a ‘disposal group’ as the decision had been made prior to the year end and negotiations were occurring at the time of the preparation of the financial statements. Gibson thus was available for immediate sale. The carrying amount of the net assets ($450 million) will be compared to the fair value of the net assets ($415 million) less the estimated costs of selling ($5 million). Thus an impairment loss of $40 million will arise which will be allocated as follows:

	
	
	Allocated impairment loss
	Carrying amount after impairment

	
	$m
	$m
	$m

	Goodwill
	30
	(30)
	-

	PPE – Cost
	120
	(4)
	116

	Valuation
	180
	(6)
	174

	Inventory
	100
	-
	100

	Net current assts
	20
	-
	20

	
	450
	(40)
	410


· The impairment loss reduces the goodwill to zero and then the residual loss is allocated to the other non-current assets on a prorate basis (HKFRS 5/HKAS 36). Even if Gibson had not been classified as a disposal group, an impairment review would have occurred because of the reorganisation. HKAS 36 does not require an impairment review because of a decision to sell.

Ashlee

· If the shares in Race were acquired principally for the purpose of selling them in the near term, then they should be classified as held for trading and therefore at fair value through profit and loss.

· On initial recognition the shares would be valued at 150,000 × $20, i.e. $3 million. The transaction costs would be recognized in profit or loss.

· Subsequently, any gain or loss should be recognized in profit or loss. This includes unrealized holding gains and losses. Thus a profit of 150,000 × ($25 – $20), i.e. $750,000 would also be recognized for the current year in profit or loss.

· If the shares were acquired for any other reason, they should be classified as fair value through other comprehensive income.

· Any designation as fair value through comprehensive income must be made upon initial recognition of the financial asset.

· The transaction costs would be included as part of initial measurement of the financial asset which would be recognized at $3.1 million.

· Any subsequent unrealized gain or loss is recognized in other comprehensive income and held in equity.

· Dividend income would be recognized in profit or loss each year.

· Impairment losses would be accounted for within any change in the fair value of the shares and would not be recycled to profit or loss for the disposal proceeds against carrying value.

· There is no recycling of any amounts previously taken to equity to determine the total gain or loss (including amounts held in equity) on disposal in profit or loss for the year.

· Thus, the gain for the year of ($3.75 – $3.1m) i.e. $650,000 would be recognized in other comprehensive income and held in equity.

· Both method would result in the asset being valued at $3.75 million at 31 March 2015.

· It would appear that if loan covenant agreements have been breached, then there may be impairment of the holding company’s net assets as the impairment suffered by the subsidiary companies would appear not to affect loan covenant agreements unless they were particularly serious.

· There is an issue over the revenue recognition policy of Ashlee. Because the development properties are essentially ‘inventory’ then HKFRS 5 does not apply as regards being ‘held for sale’, as all inventories are essentially for resale.

· The change of accounting policy is questionable and goes against HKFRS 15 ‘Revenue from Contracts with Customers’ which indicates that in the case of real estate sales, revenue is recognised when the control passes to the buyer (Step 1: Identify the contract(s) with a customer).

· Thus the profit of $10 million on the sale should not be included in the financial statements. HKAS 40 ‘Investment Property’ does not apply when property is intended for sale in the ordinary course of business.

Non-current Assets Held for Sale (HKFRS 5)
Answer 15
(a)

Under HKFRS 5, a non-current asset or disposal group (in this case, Bye – as it is a cash generating unit) should be classified as held for sale if its carrying amounts will be recovered principally through a sale transaction rather than through continuing use. The criteria which have to be met are:
(a)
The item is available for immediate sale in its present condition.

(b)
The sale is highly probable.

(c)
Management is committed to a plan to sell the item.

(d)
An active programme to locate a buyer has been initiated.

(e)
The item is being actively marketed at a reasonable price in relation to its current fair value.

(f)
The sale is expected to be completed within one year from the date of classification.

(g)
It is unlikely that the plan will change significantly or be withdrawn.

· These criteria seem to have been met in this case. Before classification of the item as held for sale an impairment review will need to be undertaken irrespective of any indication or otherwise of impairment. Any loss will be recognized in profit or loss.
· The figure of $4.5 million will be used as fair value less costs to sell. The net assets and goodwill will be written down to $4.5 million with the write off going against goodwill in the first instance.

· HKFRS 5 requires items held for sale to be reported at the lower of carrying value and fair value less costs to sell.
· HKFRS 5 requires extensive disclosure on the face of the statement of comprehensive income and in the notes regarding the subsidiary.

· In the statement of financial position, it should be presented separately from other assets and liabilities. The assets and liabilities should not be offset.

· There are additional disclosures to be made concerning the facts and circumstances leading to the disposal and the segment in which the subsidiary is presented under HKFRS 8 Operating Segments.
(b)(i)

Operating lease:

· To qualify as a held for sale asset, the sale must be highly probable and generally must be completed within one year.
· In the case of the operating lease asset, they will not qualify as held for sale assets at 31 March 2004 as the company has not made a decision as to whether they should be sold or leased. Therefore, they should be shown as non-current assets and depreciated.

· Held for sale assets are not depreciated.

· Held for sale assets are valued at the lower of carrying value and fair value less costs to sell. The assets are not impaired because the value in use ($12m) is above the carrying value ($10m).

Plant:

· The plant would not be classed as a held for sale asset at 31 March 2004 even though the plant was sold at auction prior to the date that the financial statement were signed.

· The held for sale criteria were not met at the end of the reporting period and HKFRS 5 prohibits the classification of non-current assets as held for sale if the criteria are met after the end of the reporting period and before the financial statements are signed.

· The company should disclose relevant information in notes to the financial statements for the year ended 31 March 2004 (this is a non-adjusting event after the reporting date).
(b)(ii)

As at 31 March 2003

· Under HKFRS 5, a non-current asset qualifies as held for sale should meet the criteria mentioned in (a) above.
· At 31 March 2003, although the company ultimately wishes to sell the property, it would be unlikely to achieve this until the subsidence was dealt with.

· Additionally the company’s view was that the property should be sold when the renovations were completed which would have been at 1 June 2003.

· Also as at 31 March 2003, the company had not attempted to find a buyer for the property. Hence the property could not classed as held for sale at that date.

As at 31 March 2004

· The property had not been sold although it had been on the market for over nine months.

· The market conditions had deteriorated significantly and yet the company did not wish to reduce the price.

· It seems as though the price asked for the property is in excess of its fair value especially as a bid of $8.3m was received shortly after the year-end (20 April 2004).

· The property has been vacated and, therefore, is available for sale but the price does not seem reasonable in relation to its current fair value ($10m price as opposed to $8.3m bid and ultimate sale of $7.5m).

· Therefore, it would appear that at 31 March 2004, the intent to sell the asset might be questionable.

· The property fails the test set out in HKFRS 5 as regards the reasonableness of price and, therefore, should not be classed as held for sale.

Answer 16 – Scramble

(a)

· The internally generated intangibles are capitalised in accordance with HKAS 38, Intangible Assets. It appears that Scramble is correctly expensing the maintenance costs as these do not enhance the asset over and above original benefits.

· The decision to keep intangibles at historical cost is a matter of choice and therefore policy. Scramble’s accounting policy in this regard is acceptable.

· An intangible asset can have a finite or indefinite life and HKAS 38 states that an intangible asset shall be regarded by the entity as having an indefinite useful life when, based on an analysis of all of the relevant factors, there is no foreseeable limit to the period over which the asset is expected to generate net cash inflows for the entity.

· An indefinite life does not mean infinite and HKAS 38 comments that given the history of rapid changes in technology, computer software and many other intangible assets are susceptible to technological obsolescence and the useful life may be short.

· If the life of an intangible is indefinite then, in accordance with HKAS 36, an entity is required to test for impairment by comparing its recoverable amount with its carrying amount

(a)
annually, and

(b)
whenever there is an indication that the intangible asset may be impaired.

· The useful life of an intangible asset that is not being amortised shall be reviewed each period to determine whether events and circumstances continue to support an indefinite useful life assessment for that asset. To determine whether the asset is impaired, HKAS 36 must be applied and the intangible asset’s recoverable amount should be compared to its carrying amount.

· The way in which Scramble determines its value in use cash flows for impairment testing purposes does not comply with HKAS 36 Impairment of Assets.

· Cash flow projections should be based on reasonable and supportable assumptions, the most recent budgets and forecasts, and extrapolation for periods beyond budgeted projections.

· Management should assess the reasonableness of its assumptions by examining the causes of differences between past cash flow projections and actual cash flows. This process does not seem to have been carried out by Scramble.

· Additionally, cash flow projections should relate to the asset in its current condition and future restructurings to which the entity is not committed and expenditures to improve or enhance the asset’s performance should not be anticipated.

· The cash flows utilised to determine the value in use were not estimated for the asset in its current condition, as they included those which were expected to be incurred in improving the games and cash inflows expected as a result of those improvements.

· Further estimates of future cash flows should not include cash inflows or outflows from financing activities, or income tax receipts or payments. Scramble has taken into account the tax effects of future cash flows.

(b)

· The calculation of the discount rate is not wholly in accordance with the requirements of HKAS 36 because the discount rate applied did not reflect the market assessment of the contributing factors.

· According to HKAS 36, the discount rate to be applied in these circumstances is a pre-tax rate that reflects the current market assessment of the time value of money and the risks specific to the assets for which the future cash flow estimated have not been adjusted. HKAS 36 specifies that a rate that reflects the current market assessment of the time value of the money and the risks specific to the assets is the return that the investors would require if they chose an investment that would generate cash flows of amounts, timing and risk profile equivalent to those that the entity expects to derive from the assets.

· If a market-determined asset-specific rate is not available, a surrogate must be used that reflects the time value of money over the asset’s life as well as country risk, currency risk, price risk, and cash flow risk. This would include considering the entity’s own weighted average cost of capital, the entity’s incremental borrowing rate and other market borrowing rates.

· Therefore, the inputs to the determination of the discount rates should be based on current credit spread levels in order to reflect the current market assessment of the time value of the money and asset specific risks. The credit spread input applied should reflect the current market assessment of the credit spread at the moment of impairment testing, irrespective of the fact that Scramble did not intend taking any additional financing.

· Scramble has not complied with the disclosure requirements of HKAS 36, in that neither the events and circumstances that led to the impairment loss nor the amounts attributable to the two CGUs were separately disclosed.

· HKAS 36 requires disclosure of the amount of the loss and as regards the cash-generating unit, a description of the amount of impairment loss by class of assets. The fact that the circumstances were common knowledge in the market is not a substitution for the disclosure of the events and circumstances.

(c)

According to HKAS 38, the three critical attributes of an intangible asset are:

1.
Identifiability;

2.
control (power to obtain benefits from the asset);

3.
future economic benefits (such as revenues or reduced future costs).

· An intangible asset is identifiable when it is separable or arises from contractual or other legal rights, regardless of whether those rights are transferable or separable from the entity or from other rights and obligations.

· HKAS 38 requires an entity to recognise an intangible asset if, and only if,

· it is probable that the future economic benefits that are attributable to the asset will flow to the entity; and

· the cost of the asset can be measured reliably.

· This requirement applies whether an intangible asset is acquired externally or generated internally. The probability of future economic benefits must be based on reasonable and supportable assumptions about conditions that will exist over the life of the asset. The probability recognition criterion is always considered to be satisfied for intangible assets that are acquired separately or in a business combination.

· The registration rights meet the definition and recognition criteria of HKAS 38 because they arise from contractual rights. Scramble has control because the right can be transferred or extended and the economic benefits result from the fee income Scramble can earn as fans come to see the player play.

· Under HKAS 38 the cost of separately acquired assets comprises: (a) its purchase price, including import duties and non-refundable purchase taxes, after deducting trade discounts and rebates; and (b) any directly attributable cost of preparing the asset for its intended use.

· HKAS 38 gives examples of directly attributable costs which include professional fees arising directly from bringing the asset to its working conditions. In this business, the players’ registration rights meet the definition of intangible assets and the agents’ fees represent professional fees incurred in bringing the asset into use.

· The requirements above apply to costs incurred initially to acquire or internally generate an intangible asset and those incurred subsequently to add to, replace part of, or service it. Thus the agents’ fees paid on the extension of players’ contracts can be considered costs incurred to service the player registration rights and should be treated as intangible assets.

· Where an entity purchases the rights to a proportion of the revenue that a football club generates from ticket sales, it will generally have acquired a financial asset.

· Where the entity has no discretion over pricing or selling of the tickets and is only entitled to cash generated from ticket sales, this represents a contractual right to receive cash.

· If, however, Rashing had purchased the rights to sell the tickets for a football club, and was responsible for selling the tickets, then this would create an intangible asset.

· In this instance Rashing should recognise a financial asset in accordance with HKFRS 9. The asset would be classed as either amortised cost or fair value depending on Rashing’s model for managing the financial asset and the contractual cash flow characteristics of the financial asset. A financial instrument would be classed as amortised cost if both of the following conditions are met:

(a)
The asset is held within a business model whose objective is to hold assets to collect contractual cash flows.

(b)
The contractual terms of the financial asset give rise on specified dates to cash flows that are solely payments of principal and interest on the principal amount outstanding.

· Rashing does not meet this criteria because although Rashing receives regular cash flows, these are not solely payments of interest and capital and are based on ticket revenues and therefore match attendance. As such, the fair value model is more appropriate.

Ans-31

